BIC

log[ Relative Probability ]

—200

Window Half—Width (km/s)

10%

5%x10°

2x10°

10

—100

10*

000

1

rm106 2/(410235 5027) 0.903
T | T | T | |
I : B 430729 12 ABIC 0.000 AlogP 0.0000 ]
. : X% 365757.75 Ax* 0.000 AlogP 0.0000 -
e ]
.. . - = = - — = - — — —. —.—.— — 8
- : I - X2
I ABIC —81365 1153 <( |
Ay? —81365 —-10.1
4937 4937 5027
A | | ACs '. | ACSF | |
20 40 60 80 100 120
120 iterations
rm106 2/(410235 5027) 0.903
T | T | T | |
I : ' BIC 430729.12 ABIC 0.000 AlogP 0.0000
I : ) 2 1
- 4937 4937 (| 5027 ]
- A AC o ACCF
3 L | L | L | L | L | L H
20 40 60 80 100 120
120 iterations
Fe2 10% 615+210 km/s
rm106 BLR 15000 NLR 900 km/s
T T T T T T T T T T T f
- - - T T T T T T T T T T T T T T T T T T T TBIR
e = — s L
: 4937 — 4937 L 5027 1 Fell
- I . o . _ . 4
LT A T B et el
20 40 60 80 100 120

120 iterations

kdh1 8-0ct-2021 04:15



